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G(L ,C1,Co, Ry, R3) =2.725 ‘/ Stack Exchange comment said that the gain requirement is 2.9. Close enough.
w(L’Cl’CZ’Rl’RS)

= 11.75097-kHz ‘/ My simulation shows 11.5 kHz, which makes sense because the mathematical
2:m analysis ignores the frequency response of the op-amp.
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fg:= f(1k$2,0.2kS2,10mH, 0.36pF,0.036uF) = 9336.52061-Hz

i JE (G Ry + €1 R3)-(Ry — Ry + Ry) ]
solve , w Ca'L'Ry +C4-L:R3
simplify_) \/L'(CZ'Rl T c1'R3)'(R1 - Ry + R3)

Cy-L-Ry + Cq-L-R3

2 2
R1+ R3— CZ-L-Rl-w - C1-L~R3-w = Rz

2 2
chr‘itical(Rl s R3 5 L 5 C1 5 C2 5 QJ) = Rl + R3 - CZLle - Cl LR3U.’
X:= root(Rycpitical (1K, 0.2k, 10mH, 0. 364F , 0.036)LF , 27X Hz) — 20002, X , 1000, 9000) = 4842.93069
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U (€2 Re + €1 R3] Ry — Ry + Ry

wo ( 1k, 3kS2, 20052, 10mH, 0.36.F ,0.036LF)
2T

= 6497.47334i-Hz




